
Conjugate Gradient method

Consider the problem:
0 < x < 1

d2U

dx2
= f

U(0) = U(1) = 0,

Find the exact solution for f = �(k⇡)2 sin(k⇡x).
For k = 1, 2, 3, 4, 5, 6, use the Conjugate Gradient method with
N = 65 and plot the norm of error as a function of the number of
iterations for nmax = 150.
For n = 1, 2, 5, 10, 20, plot the error at grid points i = 1 to i = 64
for k = 1, 2, 3, 4, 5, 6.
Explain your results.



Basic conjugate gradient algorithm:

https://en.wikipedia.org/wiki/Conjugate_gradient_method#

The_resulting_algorithm










